電腦網路與通訊基礎 Homework #3
1. [Q4-16+] (15%)What MAC protocol is used in the baseband layer of Bluetooth?
In the protocol, the communication is half-duplex or full-duplex?  Explain.
2. [Q4-9] (10%) Compare a piconet and a scatternet in the Bluetooth architecture.
3. [Q4-10] (10%) Can a piconet have more than eight stations? Explain. 
4. [Chap 4] (20%) What are the two types of links created between a primary and a secondary Bluetooth nodes.  Explain its usage respectively
5. [Chap 7] (15%) Explain what are (a) Error Control (b) Flow Control (c) Congestion Control?   
6. [Q7-8] (15%) List four types of delays in a packet-switch network. 
Which one could be very large, why?
7. [P7-13] (15%) Show the n leftmost bits of the following network-addresses/masks that can be used in a forwarding table.
(a) 170.40.11.0/24
(b) 110.40.240.0/22
(c) 70.14.0.0/18
